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Note : This question paper consists of three Séctions — A, B and C.

SECTION - A . 10x2=20

I Very Short Answer Type Questions :

(i)
(i)

),

»

©
@
9

Answer all questions.

Each question carries two marks. ’ s

1
If Z = (cos 6, sin 6), then find (Z * z)

fZ=x+1y and \Z‘ =1, then fmd the locus on

lf 1, w, w? are the cube roots of unity, then find the value of (1-w+ w~)‘

Fmd the set of solutlons of \- x—12<0 by alz,ebralc method.

If o, B, v are the roots of 4x> — 6x2 + 7x + 3 = 0, then ﬁnd the value of

of + By +yo. _
Find the number of ways of preparing a cham with 6 dlfferer\t coloured beads.

IfnC, =210, then find n.

Find the number of terms in the expansioﬁ of (Zx + 3y +1z).

. Find the variance of the following data :
5,12,3,18,6,8,2, 10
10.

The mean and variance of a binomial distribution are 4 and 3 respectivéiy. Fix
the distribution and find P(x 2 1). ;
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SECTION - B 5% 4 =20

11.  Short Answer Type Questions :
(i)  Attempt any five questions.
(1) Each guestion carries four marks.
: | :
AL Ifx+iy= ———, then show that 4x~ — 1 = 0.

l +cosO+1isinB

12.  1f ¢ # ab and the roots of the equation (2 —abln? - 2(a2 = be)y + (b7 -ac)=0

are equal, then show that a” + b* + ¢ =3abcora=0.

31 1f the letters of the word MASTER are permuted in all possible ways and the
words thus formed are arranged in the dictionary order, then find the rank of
the word MASTER.

4nC,n 1-3-5- ... (4n— 1)7 :
14. vaethat 2C, {1-3-5.. 2n— )42

e x , . :
@._- Resolve IR O into partial fractions.

g
/Lé( The probablhty for a contractor to get a road contract 1s and to get a building

e = ' o
contraét is . The probability to get atleast one contract 1s 3 Find the.

probability that he gets both the contracts.

)ﬂ/. A speaks truth in 75% of the cases and B in 80% cases. What is the probablhty
that their statements about an incident do not match ?

o SECTION-C,. - 5x7=35
1. Long Answer Type Questmns ' AL ‘
(i) Attempt any five questlons

- (ii)  Each question carries seven marks.

2n

5 B s B ®) 2

18. Ifnisan integer and Z = cis 0, (9 #(2n+ 1)‘2‘) then show that —ZT+-1_

J,Q’ Solve the equation x* + x* — 16x% — 4x + 48 = 0, given that the product of two of
& the roots is 6> j

=1 tan nB.

0266/TS (Day-6) [20f4]




R S .

_ 0266/TS (Day-6) . [3o0f4]

20. If 30, 84, 126 are three successive binomial co-efficients in the expansion of
|

(1 + )" then find n.
= 1.3-5

XTRY

+

|

- - 2 -
t ... eo then find 3x° + Gy,

N | —
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1
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22, Find the mean deviation about the mean for the tollowing data :
sl2 15t 2 883
i €1 618 110] 6 8 2
/7,3. Three boxes numbered 1, 11, 111 contain the balls as tollows :

White | Black Red

| 1 2 3
11 2 1 i >

I 4 - G 3

One box is randomly selected and a ball is drawn from it. If the ball is red, then
find the probability that it is from Box-II.

A cubical die is thrown. Find the mean and variance of X, giving the number
on the face that shows up.
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SECTION - A , RN
. Very Short Answer Type Questions : |

(i)  Answer all questions.

(ii) Each question carries two marks. ' ‘

(D IfZ=(cos 9, sin 6), then tind (Z + —Z—)

@ If; A+1yand‘2‘—l thenﬁndthelocusofz

lf L,w, w- are the cube roots of umty then ﬁnd the value ot (1-w+w o

3
4. Fmd the set of solutlons of ,\-' . \ -12< 0 by algebralc method
5

05" B Yy are the roots of 43 — 6x2 + 7x + 3 = 0, then fmd'the value of
of +Py+yo. SRl
Find the number of ways of preparmg a cham with 6 dlfferent coloured beads

7 HnC, =210 then find n.

Find the number of terms in the expansion of (Z.x + 3y + z)7

Aoy F ind the vartance of the followmg, y data :
e 1231868,,_,10.-. |

10.  The mean and vanance of a bmomlal distribution are 4 and 3 respectwely Fix
the distribution and hnd Pexz 1) ;
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